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PAPER-I
LABOUR WELFARE AND IND

Signature and Name of Invigilator

I
USTRIAL RELATIONS

1. (Signature) OMR Sheet NO. : .o,
(Name) (To be filled by the Candidate)

2. (Signature) Roll No.
(Name) (In figures as per admission card)

Time : 1 %, hours]

Em 1 3 Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of questions. | 3.

3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

(if) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.

(iii) After this verification is over, the OMR Sheet Number | 4.
should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.

Example:@ . @ 5.

where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR

Sheet given inside the Paper | Booklet only. If you mark

atany place other than in the circle in the OMR Sheet, itwill |

not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put

any mark on any part of the OMR Sheet, except for the space

allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using

white fluid, you will render yourself liable to disqualification. | 9-

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry duplicate

© N
N

copy of OMR Sheet on conclusion of examination. 10.
10. Use only Blue/Black Ball point pen. 11.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers. 12

13. In case of any discrepancy in the English and Hindi versions, | 13
English version will be taken as final.
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LABOUR WELFARE AND INDUSTRIAL RELATIONS
Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. Attempt all

the questions.

1. Match the following: Which of the following organisations
Thinker ~ Principles is a two-dimensional structure ?
a. Mary Parker i. Co-ordination A Functional
Follett (A) Functional structure
b. Henry Fayol ii. Elements of (B) Matrix structure
| g/lanag?ment (C) Line structure
c. F.W. Taylor iii.Scientific -
methods (D) Divisional structure
d. Gilbrethand iv. Quantitative
Taylor measurement Job description includes information
Codes : about
a b c _d (A) Job responsibilities, duties and
(A 1 i v working conditions.
(E) v (B) Job responsibilities, duties and
©) o worth in terms of wage and
(D) i v i salary.
2. Which one of the following is not the (C) Job responsibilities and
characteristic of planning ? qualifications for performance.
(A) Itdeals with future (D) Job responsibilities, duties and
(B) It involves selection  of qualifications for performance.
particular course of action
Eg)) :: :: ﬁg;\;ﬁ;\,{/g ic Differentiation between line and staff
g functions is necessary because it
3. Premature evaluation is a type of helps in
(A) semantic barrier (A) providing specialized services.
(B)  psychological barrier (B) maintaining adequate checks
(C) organisational barrier and balances.
D ersonal barrier
©) p (C) maintaining accountability.
4, Which of the following is not a (D) All the above.
feature of systems approach ?
(A) A system is a combination of Which of the following refers to
parts analysis of handwriting to determine
(B) Parts and sub-parts are related writer’s basic personality traits ?
to one another (A) Kinesics
(C) Itis not necessary for a system
to have a boundary (B) Graphology
(D) System transforms inputs into (C) Polygraphy
outputs (D) Both (B) and (C)
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a b c d
A i i i v
B) iv i i i
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WA T WIH HET & a6 S A
dEwIF: © Hih WY 7
TETg fHerd § |

(A) ot Tamd ugH HT |

(B) AT Sifdl Ue Hed ST T |
(C) TareREr Ffvwa & |

(D) 3o &t |

fefafeg & @ =9 @ T d@s &
231 toree M T | B R N e
faior & fou s & favemor =t
Hefid sar & 2

(A) wrEArTFT

(B) WIS

(C) iAoy

(D) (B) @ (C) 3FI
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9. The five basic features of Scanlon 13. Assertion (A) Performance
plan of incentive payment are Appraisal cannot be error free
(A) control, individuality, compe- and unbiased.

tence, involvement and sharing Reason (R) : The Appraisal Methods
of benefits. are covertly influenced by
(B) cooperation, identity, compe- human judgement which may
tence, involvement and sharing be vitiated by inter-personal
of benefits. discriminatory impulses.
(C) control, individuality, commit- (A) Assertion (A) is right, Reason
ment, involvement , and shar- (R) is wrong.
ing of benefits. (B) ,(B\F§,)s?srt:?;h§A) IS wrong, Reason
(D) cooperation, identity, control, ' .
involvement and sharing of ) E)e{ar;sé) nAS(SZ)rt?OOI’Ie?A?)Ot subscribe
profits. (D) Both Assertion (A) and Reason

10. Which of the following is a process S,E?id%% Rg?(;[,rt%r:]d(AR)e ason (R)
of systematically identifying, . .
assessing and developing 14. Match the following theories of
organisational leadership to enhance career t plgnnlng with their
performance ? 'Ipr:gg??ez%;séareer Propagators
(A) Manpower planning Plannin bag
(B)  Career planning a CareerAnc%or i. John Holland
(C) Succession planning " Model '

(D) Human Resource planning b. Career Path i D.T. Hall
Model
) ] c. Career Choice iii. Edgar Schien

11. Who is the profounder of the socio- Model
psychological approach to Human d. A Career Stages  iv. Mondy, Noe
Resource Development ? Model and Premeanx
(A) T.W. Schultz Codes:

(B) Lorraine Corner a b c d
(C) Lim Teck Ghee (A) i i i iv
(D) David McClelland (B) i i v

(C) i v 0 i

12. Read the following statements on (D) i v i
HRD need analysis. Identify the one 15. When Human Relations training is
which is not true : given to managers the method
(A) HRD needs can be identified at adopted is : .

strategic, organisational, (A) In-Basket Exercise
operational, task and person (B) Role-play method
levels (C) Managerial Grid Training
(B) HRD needs can be diagnostic, (D) Sensitivity T_ral_nlng
analytic, compliance oriented 16. When  team-building can  be
and proactive attempted by creating artificial teams
(C) competency mapping, in which people get opportunity to
performance  appraisal ~ and eerrl_ment and learn from their
clarity of career paths identify Eg n?(;;:?ui{ islgas ead Of?’s threatening
HRD needs at task level only ’ . : A
(D) Task related KSA analysis and (A) 2eh?\é;%%r Modification
training need analysis are (B) Agpion Research Approach
integral part of HRD need (C) Simulation Approach
analysis (D) Team Role Approach
Paper-I1 4 D-55-13
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9.

10.

11.

12.

Wede TR & ThAelE i AT

(THTA T 3% $dfed UHe) & g

MUY fomant f=ferfad & 9 =

g &9

(A) T, =fted, Femar, diewdr
T 9 § WIEERT

(B) Wedrm, UgdM, Welwdl, Wietwar
qAT AT T AERR

(C) Tz, =fteca, Uldergdr, Hleterar
T T H WEIERT

(D) wEAM, UEEH, I, HieTeddl

T o H QSR
1 oI it Sed¥ I &g TISHATH®
A N UgEH, 3Mehe adn faswr
Tishar FrefeifEd & & S 9 ¢ 9
(A) SR FHaeH
(B) Siifeehr st
(C) oIl M
(D) HFe THE S
AHe GEA foe & ufa |-
Ao SYRTH BT UfTaTgeh B & 2
(A) T ot (B) WA HER

(C) femwm=r (D) sfos dlereis
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T T o1 TeT e € 2
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TS I qAT Al F TR W Bl
ST Gl & |

(B) TUA.IREl NE¥IHAN HHICHE,
foveIyUTcreh,  3TUTe-Sq@  ael
ST el & |

(C) |er 3o, HE oA
qodichd @ SfifeeR T
H TG Aol Ik (Y H) B
TRWHAE |

(D) W& HE A TaUd HUAT
TOeIooT T UTRTeTOT  STervehdl
fogeIToT & TR 9T § |
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d. R WS diseA  iv. HiEl, 7 qer
itsicas)

0
a b c d
(A i i i v
(B) i i v i
) i v i i
(D) i iv i i
Yokl 1 G Hey URTI0T I 99T
ffatea 5 9 fog fata = sua fean
ST € 9
(A) T-IREHE THRIREES
(B) A HYE
(C) = eiRaet fire 2fm
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17. Match the Themes with the 20. Match the following :
respective approaches : Needs _ Refers to
Approaches Themes a. Intrinsic i. Recognition by boss
o Soco i Agpropritemara: |3 B, L Reair sy
technical gerial behaviour de- d. Wanted iv.Expecting others to
system pends on elements initiate
approach of the situation Codes :
b. Democratic  ii. employees’ attitudes a b c d
approach influence their (A) ivodii i
perception of work Egg ili '}/ 'IU ilili
and their work (D) i @i v i

18.

19.

experiences shape
their attitudes

c. Contingency iii. Technology greatly

approach influences organi-

sational culture and

structure which in-

fluence the attitude

towards work.

d. Interactional iv. Involvement and

approach empowerment of
workers improve
productivity

Codes :

a b C d

(A) i il v i

(B) i v i i

(C) i v ii

(D) i Wi v i

Who has extended the Vroom’s
Expectancy Theory of Motivation by
suggesting that motivation is not
equal to satisfaction and performance
and by depicting what happens after
performance ?

(A) Harold Kelly

(B) Edward Tolman

(C) Alderfer

(D) Porter and Lawler

Which of the following is an
invisible part but a powerful template
that shapes, what happens at the
workplace ?

(A) Organisational culture

(B) Organisational climate

(C) Organisational dynamics

(D) Organisational structure

Paper-11

6

21.

22.

23.

24,

The trusteeship approach to industrial
relations was advocated by :

(A) Karl Marx
(B) Max Weber
(C) Allan Flanders

(D) Mahatma Gandhi

Which of the
machinery for the
Industrial Disputes in |

following is a

settlement of
ndia ?

(A) National Commission  on
Labour
(B) Wage Board
(C) Industrial Tribunal
(D) Standing Labour Committee
In which vyear, the International
Institute of Labour studies was
established ?
(A) 1919 (B) 1926
(C) 1950 (D) 1960
Match the following Acts/Code with
the provisions :
Acts/Code Provision
a. The Trade Unions i. Retrenched
Act and protected
workmen
b. The code of ii. Collection of

Discipline

c. The Industrial
Disputes Act

d. The Model stand-
ing orders under
the Central Indus-
trial Employment
(standing orders)
Rules.

Codes :

a b ¢
A n o
B | I | .\,
C n 1 v
D T, i
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political forms
iii. Recognition of
Unions
iv. Disciplinary
action for
misconduct

v
i
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19.
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a. =Ja9g 99 / i, S fohu Mo e
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b. & e A% ii. TR I
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e et iy forg
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AET) T

S

a b c d

(A i i i v

ng i i v i

C i | v i

(D) i i ii
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25.

26.

27.

Who advanced the concept of “Three
tier  institutional  structure’  of
Industrial Relations ?

(A) John T. Dunlop

(B) Allan Flanders

(C) Kochan, Katz & Mckersie
(D) Roy Adam

Which of the following is not a
correct statement pertaining to the
meaning of trade union ?

(A) It is a continuous association of
wage earners for maintaining
or improving the conditions of
their working lives.

(B) It is a society of individuals in
one or more professions for the
purpose of protecting and
advancing, members’ economic
interest.

(C) It is a combination with an
objective of regulating the
relation between workmen and

workmen,  workmen  and
employer,  employer  and
employer

(D) It is any combination, whether
temporary ~ or  permanent
formed primarily for regulating
relations between the two
parties.

Who formed the Bombay Millhands
Association ?

(A) Sorabjee Shaprujee Bengali
(B) Bal Gangadhar Tilak
(C) N.M. Lokhande

(D) V.V.Giri
28. In which country the trade union
movement began with industrial
unions ?
(A) GreatBritain (B) U.S.A.
(C) India (D) Canada
Paper-11
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29.

30.

31.

Which one is not a right of a
recognized union ?

(A) Aright of “‘Check-off’

(B) To use notice board on the
premises of the undertaking

(C) To appear on behalf of the
union on domestic inquiry

(D) inspecting the undertaking

The criteria for recognition of trade
union under the code of discipline are

(@ union claiming recognition
should have been functioning

for atleast one year after
registration.

(b) the membership of a union
should cover atleast 5% of the
workers in that establishment.

() A union can claim recognition
as representative union for an
industry in a local area if it has
25% workers as members in
that industry in that area.

(d When a union is recognised
there shall be no change in the
position for 5 years.

(A) All the provisions are correct
(B) All the provisions are incorrect
(C) Only (a) and (c) are correct
(D) Only (d) and (b) are correct

Which of the following subjects is
not enumerated in the ‘concurrent
list’ of the Indian constitution ?

(A) Oil fields
(B) Trade Unions
(C) Factories

(D) Vocational and
training of labour

technical

D-55-13
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25.

i Hay & BEHE e
AT (2 fey SRegeme WF) &t
STTROT Tehraht 37 & 2

(A) S 2 T

(B) UeH wigH

(C) =M, Frest qan A

(D) @ TEH

FIAE G (2T JHIA) F 37 Fl T
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et o offe dey @ fataia
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% | A G 3R I gl 2

(A) uefoea (B) Juam
(C) *ma (D) e
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FHER &l |

(d) UF IR AU & 91E, 5 a6
e ferfa § qiterd= =&t e |

(A) ST Tl W&l |

(B) ST Tt oA € |

(C) haet (a) @ (c) TET € |

(D) T (d) TAT (b)

IRAE  WagE & guedt g o

fefefea § @ #F @1 foug gRkafe

TE?

(A) dor-e

(B) ¢® g

(C) FrEH

(D) HfHehl 1 EHTES T qHATH!
TTTeToT



32.

33.

34.

35.

36.

Which of the following statements
relating to the  Employees’
Compensation Act is not correct ?
(A) This Act has a link with the
Workmen’s Compensation Act
(B) This act is the outcome of the
amendment that was made to
the Workmen’s Compensation
Act
This act does not have any
provision relating to temporary
disablement of workmen
This act has a provision
relating to permanent partial
disablement

(©)

(D)

Under the Maternity Benefit Act, a

woman employee would get a
medical bonus of :

(A) 3000 (B) ¥ 3500
(C) <4000 (D) 4500

Which section of the Factories Act
deals with appointment of Welfare
Officers ?

(A) Section45 (B) Section 49
(C) Section51 (D) Section 55

The Maternity Benefit (Amendment)
Act, 1988 provides for extension of
the benefits to shops and commercial
establishments employing a
minimum of :

(A) 7 persons (B) 8 persons
(C) 10persons (D) 20 persons

Which of the following is not

considered to be a legal status for a

registered union ?

(A) No power to acquire and hold
both movable and immovable

property

(B) Power to contract with other
entities

(C) Perpetual  succession and
common seal

(D) A body corporate by the name
under which it is registered

Paper-I1
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37.

38.

a.

Under the Minimum Wages Act,
which of the following can not be
appointed by the appropriate
government by notification under the
official gazette for deciding claims
arising out of payment of less than
the minimum rates of wages ?
(A) Any commissioner
Workmen’s compensation
(B) Any officers of the Central
Government exercising
functions as a  Labour
Commissioner for any region
Any officer of the State
Government not below the rank
of Labour Commissioner
Any officer not less than the
rank of District Magistrate

for

(©)
(D)

Match the following according to the
objectives of legislations :

Minimum 1. to ensure that
Wages wages  payable
Act are disbursed
within prescribed
time limit
Payment of ii. to extend social
Wages Act justice by statu-
torily providing
the remuneration
legally due to an
employed
person
Equal iii.  to allow employ-
Remune- yees to legally
ration share in the
Act prosperity of the
establishment
contributed by
capital, manage-
ment and labour
Payment of iv. to prevent dis-
Bonus Act crimination  in
the matter of
employment and
remuneration
Codes :
a b c d
(A) v iii ii i
(B) ii i iv i
(C) iii I iv i
(D) i ii i v
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32.

FeffEd 5§ 9 91 HUF HEER

iRt e & g § Te e € 2

(A) FHHR UL AuF=E d THH
T T |

(B) HHBR Ui AUaq | Ty
% Toa®y g Iy S
T o |

(C) HUBRT o o™l SwWdT |
TR g Wg 38 afaq o
TE |

(D) =@ 3futem o Ry iR
7RI © et Wee ¥ |

. vl vRer sfafEm % eMe T

afgenr wHERl W fha TUAr W

Taferedia S=F e 2
(A) 3,000 (B) 3,500
(C) 4,000 (D) 4,500

. PRGN IufEm % R dAFE (W)
T Y FHeAUT AHMRAT B IR I
g2
(A) ©RT 45 (B) R 49
(C) w51 (D) ©RT 55

. Ul gl (gemee) AfutTemE, 1988 %

3iaTd, UG ugfeenet @i A =Aad
FHHEANET Al FHMAT Ta Ufdemi § @6
fepT ST <1 UTereT & 2

(A) 7 =T (B) 8 =Tl
(C) 1=t (D) 20 AR

. Tt oSt giem & oo fefatea o

Y e e fafyen feafa =&t AT st 2

(A) Tt AT 3T AT YR I T
1 AT qAT GIROT A ! IMeRT
1B |

(B) 3T TSN & W IS H IeRd

(C) Toremalt STIshHUT 2N HiF Hiel

(D) ft@ T @ st gl T 3T
3T e T (TSt HIaRe)

37.

38.

AT TN X W A A9G o A
Tetya e W o o % foe, =geay
TSIt AT o ST EXeRI ISTas o
fomift T Geifed TR g7 FHefettad
o ¥ o e el foram T et 2

(A) FUPR F UdF & &0 HE

SIRES}

(B) Towdl &1 & 9/ 3T % it
e R 9o HEE WHT H
HIE TRTEHRT

(C) TT TIHR Fl e AMIHRI 5T 57
3T ° A L BT A& |

(D) =i aifyswrt s e querfesrt
AHIIHHTE |

a3 % AR FEATeAEd

! AT BT

a. A i 3T A W iR

ST 9T 9T % ST

Aty A G
FHET |

b. BTGl WA ii. HEHART I BT T

BBt ¥ 3 it o
T AYTF T
T IS =T
IAY FAT |

c. ¥AH iii. 95T, e Huee

Plire it qAqT o9 & AR

Aty e Ufqse &t
qgfg o HH=RET
YT AR i
3TN

d. TFE T v, TSTIR 1 TS

Aty & A | ISHTE Hi
T |

e

a b c d

(A v i i

®) i i v il

© i v

(D) i i i
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39.

40.

41.

42.

Which of the following is ‘true’ as
per the provisions of the Industrial
Disputes Act ?

An employer need not issue any

“Notice of Change” in respect of 4"

Schedule of the Act.

(A) Where the change is affected in
pursuance of any settlement.

(B) In respect of any matter
specified in the schedule
affecting workmen.

(C) In respect of conditions of
service applicable to any
workman.

(D) None of the above.

Which of the following amendments
of Industrial Employment (standing
order) Act provided for payment of
subsistence  allowance by the
employer to a suspended employee
pending enquiry against him ?

(A) Industrial Employment (standing

order) Amendment Act, 1956

(B) Industrial Employment (standing

order) Amendment Act, 1963

(C) Industrial Employment (standing

order) Amendment Act, 1982

(D) Industrial Employment (standing

order) Amendment Act, 1961

The ‘New Lanark’ experiment is
associated with :

(A) Human Relations at workplace
(B) Networking Organisations

(C) Welfare Movement in
Industries

(D) Behavioural Theory

Social security provided by a ‘means
test” is called :

(A) Social Insurance

(B) Mutual Insurance
(C) Social Assurance
(D) Social Assistance

Paper-11

12

43.

44,

Match the following Themes with the
concepts of Labour Welfare :

Themes Concepts of

Labour Welfare

Relative
concept

Labour Welfare .
is a desirable
state of existence
comprehending
physical, mental,
moral and emo-
tional health or
well-being.
In planning for ii.
welfare, the in-
dividual alone
should not be
taken into
consideration.
Welfare work iii.
differs over
time and place.
Welfare connotes iv.
atleast minimum
desirable
conditions of
existence
biologically and
socially
determined.
Codes :
a b c d
(A) i iv TR
(B) iii i i iv
C) iv i i i
(D) iv iii i i

Positive
concept

Social
concept

Total
concept

In which of the following approaches
‘good will” is considered as an
important goal of labour welfare
work ?

(A) Placating Theory

(B) Public Relations Theory
(C) Fundamental Theory
(D) Philanthropic Theory
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39.

AT foarg Tufem & we &

AR fAfeAtEd & | i 41 g’ § 2

Tq ufem o aqd g % W o

F1g e aReds fomfta (@fee ofw

TIST) STRY 8T B

(A) @ fFE R % oW |
IR ] &I € |

(B) wH®RI I uqfed & et
atfufag ¥ f5u 7T el % ged
T

(C) Tl FHHR T 1] g arett Fa-
It % Goy o

(D) ST W ¥ fobdt o =&

3T T (T aTeeT) etfufam

% fHg O § S @ 89 d%

feraa sHer @t T 9w % g

T U § 2

(A) oiEfTs EeH (R eTRw)
GeTe eIy, 1956

(B) ol Taem (mEr emew)
eI A= 1963

(C) eirnfieh faor  (Tamll  ameen)
GeTE 3TaaT 1982

(D) oimEfT® TeH (R eTRw)
Gee eI 1961

‘] AR WA fehad Feiferd € 2
(A) HEEA W AFG oy
(B) FafdT Hie

(C) =W | FHedToT STRie

(D) TERTHS [HF

‘g o R WEH H SH el
T YT Bl et &

(A) SIS ST

(B) URER ST

(C) wmI AT

(D) HMIE FEEdT
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43.

44,

ffataa gfqurr fawar 0 59 wHeamr
I HHEAATST o T GAFAT T
ufaurer fawa A HeATT i

)

HeheqATd
a. 9H oA AT B i, QU
TS ST TeT & HeheamT
S IR,
T, Afdes qer
HaTIcHs e a1
FHeTOT IMHA & |

b. THeAT0T K ST S i, HHRIHS
T hael A i i
I § A T
MW |

C. A0 HF G TAqT
T & FTER S8R
g1

d. T |, Sk @i
TR TE % oI -
- AT A
ud Attt ferfaat
T FTERoT YT,
ST BT ¢ |

HE

iii. gt
TheTT

iv. 997
GheT-T

(A) i ivo i i
B) i i [ 0\
€ v i i
D) v i i I

FHfRad § ¥ 693U § ‘95 3T
1 S Hed0T FHE F T T 0l ded
HET ST E 2

(A) THH-T (TIRICT) 1 g
(B) S ¥k s

(C) iferes faaT=T

(D) WUHR! g




45.

46.

47.

For which of the following categories
of workers, there is no provision for
welfare fund ?

(A) The Beedi workers

(B) Workers
Mines

working in Mica

(C) Cine Workers

(D) Workers working in the
Printing Industry

Under which segment of the Indian
Constitution, the Labour Policy is
designed ?

a. Preamble
b.  Fundamental Rights

c.  Directive Principles of State
Policy

d.  Fundamental Duties
(A) Onlyc

(B) a/bandc

(C) aandc

(D) a,b,candd

The conversion of the *‘nominal
wages’ into ‘Real Wages’ is done by
which of the following indices ?

(A) Human Development Index
(B) Poverty Index
(C) Wholesale Price Index

(D) Consumer Price Index

48.

49.

50.

Paper-11

14

Match the following Themes of

Theories of Wages with their

propagators :

Themes of Wages Propagator
Theory

a. “Labour is the real i. David
measure of the Ricardo
exchangeable value of
all commodities.”

.“The natural price of ii. Michel
labour is that price Kalecki
which is necessary to
enable the labourers to
subsist and per- petuate
their race  without
either  increase  or
diminution.”

.“Wages cannot rise iii. Adam
unless either the wage Smith
fund increases or the
number of workers
decreases.”

. “Wages are a residual, iv. J.S.Mill

the level of real wages
depending on what was
left of the total product
after capitalistic class

had its cut.”
Codes :

a b ¢c. d
A 1l I 1 v
B) i I v I
C) i I v I
D) v 1 1l 1

Which of the following statements

about wage differentials is not true ?

(A) Wage differentials can be
attributed to imperfections in
employment market.

(B) Social prejudices do not
influence the wage differentials.

(C) Inter-industry wage differentials
are bound to occur.

(D) Geographical wage
differentials are a common
phenomenon.

Which of the following formulae is

used for determining Minimum

wages ?

(A) Adarkar’s Formula

(B) Rege Committee’s Formula

(C) Dr. Aykroid’s Formula

(D) Royal Commission on
Labour’s Formula
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45,

TF9 TR &% FUFR & [T o] B
EAR LI A

(A) =S s

(B) 379 I @H H I HA a1t
(C) fo=mm FHHR

(D) HET & & FHBR

O Gfodm & 69 9 § 99 TAifd
ANTRcTd H T 7 2

a.  SERTH

b.  Hiferk st

c. T A % Favrs a
d.  Hifers s

(A) Fad ¢

(B) a baAc

(C) adarc

(D) a,b,cTard

TRa! HSIGY! (AT oiSisT) i aTiaeh
TR (I o) H aged % fow
efied § ¥ 69 e 1 ST
e < & 2

(A) T o TS5
(B) TRIs TS
(C) o T T

(D) UK o TS

48.

49.

50.
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1 Tt % wfaurer fag @ s
JERhT I GHICTT FHITT
g & ufaurer fagrr TARS
a. o9 U I & faHa Q. sfae
I A F T ACE | R
b. 5™ F WHAH T T i, ARHA
qog & ST HHAT & Ao plolehl
frale 3R "l ST
TS % A g+ 3R A
Te % folT STavas &l |
C. TN @« d% TEl ¢ iii.ueH
THA SE dqw A a ey
AT TR H T
T Tt |
d o9gd eERme & iv.SEa.
ardfes TeRd 3 W fHel

o RT el IS H H1E

T & I T F=al

gl

S
a b c d

A Qi i i v

B) i i v

(C) iii i iv i

©) v i Qi

T R F o Fefefad 5 & &

T T e TRl ¢ 2

(A) IR &R H uiar TGl
AT H HROTE |

(B) WIS UaTWE WG AR H
oo &l e |

(C) iR wergdl 3R e Bl & |

(D) fmifeTh TEEH R UH AHRT
TATE |

ffefad & ¥ &9 A e FHaH
AT o FeiRoT | v e ST € 2
(A) 2TSRHR T HH

(B) Tt HHST T HHAT

(C) . THHITE T HIHC

(D) T HHTH 3 TR BT BHE
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